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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Trend plot forP3-14 0
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P3-14
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P3-14
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42.5 — NI
42.0 A
41.5
41.0
40.5
40.0 -
39.5
T T T
670 675 680
m=800,m FV0=0
—o— MW
42
41 -
40 -
39 B T T T
800 805 810
m=935,m FV0=0
—— MW
42
41
40 -
39
935 940 945
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42.

41.

41.

40.

40.
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m=975, FV0=0

—o—

M_W
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T
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T
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m=1040, FVO=0
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41 -

40 -

—0—
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T T T T T T
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P3-14

BYiE) | BRI (FD) | EHME (EH/HK) | XK R

06:35 283 150.0 RS| 1Ri%e06:35 B (KRFERHE)
07:10 283 150. 0 RS 1Ri&@07:10 Bzl (REEESE)
08:25 283 150.0 RS {RiBe08:25 Bz (REAERESE)
09:20 283 150.0 RSl {Ri8e09:20 Bl (REEESE)
10:05 283 150. 0 S| Ri%@10:05 Bz (REERESE)
10:45 283 150.0 RS {RiRe10:45 Bz (REERSR)
11:25 283 150.0 el Rige11:25 Bal (REEESE)
12:05 283 150.0 BE| Rige12:05 Bz (REAEHSE)
12:40 283 150.0 B Rige12:40 Bz (REAERE)
13:10 283 150.0 S| 1Rige13:10 Bah (REEESE)
13:40 283 150.0 B 1Rige13:40 Bzh (REAEESE)
14:10 283 150.0 B 1Rige14:10 Bz CGREMEESE)
14:40 283 150.0 S| 1Rige14:40 B3h (REEESR)
15:15 283 150.0 B Rige15:15 Bz (REAERSE)
15:50 283 150.0 BE| 1Ri%e15:50 B3 (REERSE)
16:40 283 150.0 S| 1Rige16:40 Bah (REEEER)
23t 4528.0 (16:%) 2400. 0 323 %EC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[ERECZE (2400. 0 vs 4990.0) iH 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=58 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
V1, VO #RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2100 2100 14894
100 - 735 - 2000

50 A - 1000

FRV (ml d-1)

Warning: lcol [FVI',| "FVO’'] missing

<

=

m
=

200 { -
FRV maxM 40

150 fmmm—mmmm e e I- -t — - ———— Bl i s ittt
100 A u I I
50‘ .

1.0

- 38 =

- 36

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

! 1
400 4 ByInit!@D60 01:54: ET=1920 Fg=2250.0 Ro=468.0 2000

300 -

- 2000
200

- 1000

cumET (ml/plant)

100 A

0 -
400

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
A O O O O O O O O O

300 1 ByEt @D58 19:07: ET=1979 Fg=2100. 0 Ro=nan !

- 2000
200

100 - 1000

cumET (ml/plant)

fl S S W—"" —
408 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
7 | #A | #s | #5 | R5 | A& | s | A | Fm | FA | PA | #A | Rs | A5 | As | A& | A | Fm | FA | FA | RA | A& | A& | A& | 3000

]
300 1 ByWoFv 1@D60 01:54: ET=2096 Fg=2400.0 Ro=477.0

- 2000
200

- 1000

cumET (ml/plant)

100 A

P s . S uuuu 6'

17 18 19 20 21 22 23

E3 E3 ES = E3 E3 ES
B B 5] B B B 5]

0 | 1 [ 2 [ 3 45 [ 6789 [10o[11]i12]13][1a]i5
FE | B5 | # | 5 | B5 | BE | 65 | R | BE | A5 | E | 5 | A5 | BE | 65 | R& |

0.8

0.6

0.4+

0.2~

0.0
1500 A

—_— 4
[ ] | _obs
—@— PPFD obs

80 A

60

- RH
407 @  RH_obs
[ ) RHo_obs




m=450, FV0=0 m=495, FV0=0 m=535, FV0=0

37.54 —@— ME —o— ME 39.50 4 @ ME
38.5 1 39. 25 -
37.0
39. 00 -
38.0
36.5 38.75
38. 50 -
37.5 -
36.0 38. 25 -
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 535 540 545
m=590,m FV0=0 m=635,m FV0=0 m=675,m FV0=0 m=710,m FV0=0
—— ME —o— ME 40.0 17 _o— M_E —— ME
39.5
39.5 40.0 4
39.5
39.0
39.0 39.5
39.0 -
38.5 585
: 39.0
38.5
38.0
38.0 -
T T T T T T T T T T T T
590 595 600 635 640 645 675 680 685 710 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
40.54 —@— ME —o— ME —o— ME —o— ME
40.5 4
40. 5 10,5 -
40.0 4
40.0 4
40.0 1 40.0 -
39.5
39.5
39.5 39.5
39.0
39.0
745 750 755 780 785 790 820 825 830 855 860 865
m=890,m FV0=0 m=930,m FV0=0 m=980,m FV0=0 m
41.0 44 7
04— ME —o— ME : —— ME
41.0
42 -
40.5 -
40.5 - 405
40 -
40.0
40.0 1 40.0 - 28
39.5
39.5 39.5 36 —— MW
890 895 900 930 935 940 980 985 990 600 800 1000



m=450, FV0=0

—0— MW
40 -
39 4
38 4
37 4
36
T T T
450 455 460
m=635,m FV0=0
492 - - MW
41
40 A
39 4
38 +
T T T
635 640 645
m=780,m FV0=0
-o— MW
42
41
40 -
39 L T T T
780 785 790
m=930,m FV0=0
—-0— MW
43 A
42 A
41 A
40 A

930 935 940

m=495, FV0=0

43

42 -

41 A

40 -

39 A

—— MW

38 -

495 560 565
m=675,n FV0=0

42 -

41

40 ~

39 A

38

—— MW

675 650 6é5
m=820,n FV0=0

42 -

41 -

40 -

39 A

—o— MW

820 8&5 8é0
m=980,n FV0=0

43

42

41

40 -

-— MW

i

980 985 990

m=535, FV0=0 m=590, FVO0=0
43 1 —— MW 42 —— MW
42 41 4
40
41
39
40
T T T 38 T T T
535 540 545 590 595 600
m=710,m FV0=0 m=745,m FV0=0
—o— MW —o— MW
42
42
41
41
40
40
39 -
T T T 39 L T T T
710 715 720 745 750 755
m=855,m FV0=0 m=890,m FV0=0
43 o— M —— MW
43
42
42
41
41
40
40
39 L T T T T T T
855 860 865 890 895 900
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P3-14

BYiE) | BRI (FD) | EHME (EH/HK) | XK R

06:45 283 150.0 (Z=| {Ri&e06:45 Bz (RAMEEE)
07:20 283 150.0 |Z=| 1Ri&@07:20 Bzh (REB{EEE)
08:35 283 150.0 Ag| 1Ri%&e08:35 H#i (RFERS)
09:30 283 150.0 |Z=| 1Ri%e09:30 Bz (RF{REEE)
10:15 283 150.0 (2 =| 1BRi%e10:15 Bzl (kBFERSE)
10:55 283 150.0 |Z=| 1Ri&@10:55 Bzl (REB{EEE)
11:35 283 150.0 (Z=| 1Ri%@11:35 Bzl (REERSE)
12:10 283 150.0 (2 =| Bige12:10 Bz (kAFERSE)
12:45 283 150.0 |2 =| 1Rige@12:45 Bz (GREB{EREE)
13:15 283 150.0 FA| {Ri&e13:15 Bzl (GkAEEEE)
13:45 283 150.0 FA| 1BRi&@13:45 B3 (RAERSE)
14:15 283 150.0 FA| {Ri%e14:15 Bz (REAERKES)
14:45 283 150.0 FA| 1{Ri%e14:45 Bz (RAHERESE)
15:20 283 150.0 (Z=| 1Ri%@15:20 Bz (REERSE)
15:55 283 150.0 |2 =| 1{Ri&e15:55 Bzl (REB{EEE)
16:45 283 150.0 |Z=| 1Ri&e16:45 Bzl (GRPB{EEEE)
23t 4528.0 (16:%) 2400. 0 323 %EC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#[ERECE (2393.0 vs 4813.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=57 (2025-05-27)

1WfF———_—————T————_— e - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 2100 14872
100 11700 - 2000
346
50 - 1000
60 Warning: lcol [FVI',| "FVO’'] missing 40
0 + - 02
( 4
200 A
L 40
150 -
(NN
100 + - 38 =
50
- 36
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
400 - Bylnit:@DGO 01:54: ET=1941 Fg=2400. 0 Ro=525.0 ?3000
- 2000
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
W01z=1z=z| B ([ B | B B | B B[ | B | B[ | BB [B | BE[B|B | |[F|B|BE[B]|HKE 3000
1
300 4 ByEt @D57 19:07: ET=1922 Fg=2142.0 Ro=nan 1
- 2000
200 - — g :
L | :
0. 1 gl THEH S ! - 1000
1
0 :===n::-ar—;::~——1r——_i~———i _ILJI _IL_JI ‘IF“\\\\\\r—__ — 0
10 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
W02 25|2a6|25|25 252525 B | 2525|2525 M G EREARAERA EEAEERAEARL 5 & | 3000
1
300 4 ByWon:@DGO 01:54: ET=2072 Fg=2400.0 Ro=514.0
1 - 2000
200 - |
: - 1000
100 |
p—-— —@
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
NREZAEZHEZIEFSE I EZIET A E TN R E TS E I EZIE TSN G EREARAERA EEAEERAEARL i 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4

| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



39.

39.

38.

38.

40.

39.

39.

38.

40.

40.

39.

39.

41 4

40 -

39 -

38 -

37 A

36

860
m=595,n FV0=0

660 665
m=770,n FV0=0

7%5 7é0
m=920,n FV0=0

925 930

37.

36.

36.

39.

39.

38.

38.

40.

40.

39.

39.

40.

40.

39.

39.

m=460, FV0=0

-
460 465 470
m=645,m FV0=0
-
645 650 655
m=800,m FV0=0
-
800 805 810
m=965,m FV0=0
—o—
965 970 975

m=495, FV0=0
38.751 —@— M_E
38. 50 -
38. 25
38. 00 -
37.75
37.50
37.25 +5 , ,
495 500 505
m=695,m FV0=0
39.0 -
38.5 -
38.0 -
T T T
695 700 705
m=835,m FV0=0
—o— ME
40.5 -
40.0 -
39.5 -
835 840 845
m=1020m FVO=0
—o— ME
40.5 -
40.0 -
39.5 -
1020 1025 1030

39.

39.

38.

38.

38.

38.

39.

39.

38.

38.

40.

40.

39.

39.

m=545, FV0=0

25

00 -

75 A

50 -

25 A

00 -

5%0 565
m=735,n FV0=0

7&0 7&5
m=875,n FV0=0

880 885

44 4

42 -

40 -

38

36

800 1000




m=460, FV0=0

39 -

38 A

37 A

36

35 -

—— MW

4é0 4é5 4;0
m=645,n FV0=0

39. 0 -

38.5

38.0

37.5 -

37.0

36. 5

—o— MW

\

645 6%0 655
m=800,n FV0=0

41 -

40

39 A

—— MW

800 865 8%0
m=965,n FV0=0

44 -

43 -

42 -

41 -

40 ~

-— MW

i’
7

965 970 975

m=495, FV0=0

42 4

41 -

40 A

39 A

38

37

—— MW

560 565
m=695,n FV0=0

40 -

39 A

38

37 A

36

—— MW

760 765
m=835,n FV0=0

42 -

41 -

40 ~

39 A

—— MW

835

8&0 8&5
m=1020m FV0=0

44 -

43 -

42 -

41 A

-— MW

1020

1025 1030

m=545, FV0=0

42 -

41

40 -

39 -

—0—

MW

545

560 5%5
m=735,n FV0=0

41 -

40 -

39 -

38 -

37 A

36

—0—

M_W

735

7&0 7&5
m=875,n FV0=0

43 -

42

41

40 A

39 A

—0—

M_W

875

880 885

m=595, FV0=0

41 -

40 -

39 -

38

—0— MW

595

660 665
m=770,n FV0=0

41 -

40 ~

39 A

38

37 A

—— MW

770

7%5 7é0
m=920,n FV0=0

43

42 4

41 -

40 -

39 -

—o— MW

920

925 930
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P3-14

BfiE) | FEBIETK (D) | E#=E (EH/) | XK EFF

06:35 288 150.0 BE| {RRi%e06:35 Bz (REAEHE)
07:20 288 150.0 A5 {Ri%@07:20 Bz (REERER)
08:40 288 150.0 B 1Rige08:40 Bzh (REEEE)
09:35 288 150.0 BS| 1Ri%e09:35 Bz (GRE{EEEE)
10:20 288 150.0 (Z=| 1Ri%@10:20 B3 (GkABERSE)
11:00 288 150.0 el Rige11:00 Ba) (REAEHSE)
11:40 288 150.0 B Rige11:40 Bz (REAERE)
12:20 288 150.0 BE| Ri%e12:20 B (RF{EREEE)
13:00 288 150.0 el Rige13:00 Bal (REAEHSE)
13:40 288 150.0 RS Rige13:40 Bz (REAEHE)
14:20 288 150.0 B Rige14:20 Bz (REAERSE)
15:15 288 150.0 el Rige15:15 Ba) (REEESE)
16:15 288 150. 0 S| Ri%e16:15 Bz (REERESE)
2it|3744.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

FEIKRECE (2370.0 vs 4587.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=56 (2025-05-26)

150 m———e e ———
VI, VB8RV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2000 2057
- 2000
100 - 553 1700 [ 71624
50 - - 1000
40 60
Warning: lcol [FVI',| "FVO’'] missing
0 + - 02
( 4
200 A
- 40
150 +
(NN
100 - - 38 =
50 A
- 36
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
3004 BylInit]@D60 01:55: ET=1761 Fg=2250.0 Ro=474.0 3000
- 2000
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
0] B | B | B | BB |8 | B | B | K| B i 5 5 5 i 5 5 5 i 5 5 5 i 5
1
ByEt @D56 19:09: ET=1538 Fg=1683. 0 Ro=nan : 2000
200 i
" e —8—8—8—%
1
100 4 /‘/i I ! L 1000
¥ I
—n ——— ¥:¥\
S e — —
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
0] B | B B | B | B | 8| B |B|B| K| B 5 5 i 5 5 REEARES A REEREA R

1
ByWon:@DGO 01:55: ET=1626 Fg=1950.0 Ro=419.0
‘/'/\/

[ S s ——— Y — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

BB | B5 | B | BF | H5 | MBS | BE | R | ME | BE |- [ BF | 5 | fs [ BF | f5 | M8 | BR | [XM| A | 2= (%5 Hs

——e—8—o |20

200 -

100 4 - 1000

ET (ml/hr/plant)

0.8

0.6

0.4+

0.2~

0.0
1500 A

—_— 4
[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

—o— ME —o— ME —o— ME
37.5 38. 75 39. 25 A
38. 50 - 39. 00 -
37.0
38. 25 -
38. 75 -
36.5 38.00
38. 50 -
37.75 -
i 38. 25 -
36.0 37.50 4
T T T T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
m=595,m FV0=0 m=650,m FV0=0 m=705,m FV0=0 m=745,m FV0=0
39.54 —®— ME 8957 o WE —o— ME - ME
39.0 39.5
39.0
39.0
38.5 39.0
38.5
38.5
38.0 38.5
38.0
38.0
37.5 38.0
T T T T T T T T T T T T
595 600 605 650 655 660 705 710 715 745 750 755
m=785,m FV0=0 m=830,m FV0=0 m=880,m FV0=0 m=950,m FV0=0
400 4 —8— ME | 4004 —® ME 051 o mE 4051 o mE
40.0
39.5 - 39.5 - 40.0 ~
39.5
39.0 39.0 39 5
39.0
38.5 38.5
39.0
785 790 795 830 835 840 880 885 890 950 955 960
m m=445,m FV0=0 m=495,m FV0=0 m=540,m FV0=0
40 ] i
4o - —— MW 42 —— MW 42 —— MW
39 -
41
41
40 38 4
40
38 37 1 40 -
39
36 -
36 | 39 -
—— MW 35 - 38
600 800 1000 445 450 455 495 500 505 540 545 550



m=595, FV0=0

41 -

40 -

39

38

37 A

—0—

M_W

595

T T
600 605

m=785,m FV0=0

40 A

39 A

38

37 A
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—0—

M_W

785

790 795

m=650, FV0=0

40 -

39 -

38

37 A

36

—— MW

T
650

T T
655 660

m=830,m FV0=0

41

40 ~

39 A

38 A

37 A

36

—— MW

T
830

835 840

m=705, FV0=0

40 A

39 -

38 -

37 A

36

35 A

—0—

M_W

T
705

T T
710 715

m=880,m FV0=0

42 4

41 4

40 ~

39 A

38 A

——

M_W

T
880

885 890

m=745, FV0=0

40

39 -

38 -

37 A

36

—0—

M_w

745

T T
750 755

m=950,m FV0=0

42 -

41

40 -

39 A

—0—

M_W
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